··· CONFIDENTIAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30606	API No. 15109-20853-0000
Name: Murfin Drilling Company, Inc.	County: Logan
Address: 250 N. Water, Suite 300	SW SW NW NE Sec. 32 Twp. 12 S. R. 33 East West
City/State/Zip: Wichita, Kansas 67202	1050 FNL feet from S / Circle one) Line of Section
Purchaser: None	2580 FEL feet from E/ W (circle one) Line of Section
Leon Bodek CED The Soll	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 267-3241 Contractor: Name: Murfin Drilling Company, Inc.	(circle one) NE SE NW SW
Contractor: Name: Murfin Drilling Company, Inc.	Lease Name: KWS Well #: 3-32
License: 30606	Field Name: Unknown
Wellsite Geologist: Tom Funk	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 3047 Kelly Bushing: 3057
New Well Re-Entry Workover	Total Depth: 4725 Plug Back Total Depth: None
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 219 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to sx cmt.
Well Name:	00.110
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan PANJ9-30-09 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No.	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: SEP 1 4 2009
08/07/09 08/15/09 08/15/09	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter SecTwps. ACC WICHITAWest
Recompletion Date Recompletion Date	County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs at TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3- nd geologist well report shall be attached with this form, ALL CEMENTING
All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Leon Rodak, VP Production Date: 09/1/89	Letter of Confidentiality Received
Subscribed and sworn to before me thisday of	If Denied, Yes Date:
200	// Nireline Log Received
	2 MI ./
	Geologist Report Received
Date Commission Expires: 4/11/2011	Geologist Report Received UIC Distribution

Sec. 32 Twp. 12	n Drilling Comp				e Name: ^L v: <u>Logar</u>			Well #: 3-3	
NSTRUCTIONS: Shorested, time tool open a emperature, fluid recovered to the control of the contr	w important tops a and closed, flowing very, and flow rate	and base o g and shutes s if gas to	f formations print from fine from from from from from from from from	enetrated. whether s along with	Detail al hut-in pre	l cores. Repo	static level, hydr	ostatic pressu	res, bottom hole
Orill Stem Tests Taken (Attach Additional Sh	eets)	⊘ Y∈	es No		ZL	og Format	ion (Top), Depth	and Datum	Sample
Samples Sent to Geolo	gical Survey	✓ Ye	s 🗌 No		Name	е		Тор	Datum
Cores Taken		Ye	s 🕢 No						
Electric Log Run (Submit Copy)		 ✓ Ye	es 🗌 No			CEE AT	TACHEDINGT	2000	<i>-</i> 0
ist All E. Logs Run:						SEE AI	TACHED LIST	KCC	مَ
Electronically E-	mailed:							SEP 1 1 21	193
Dual Induction, Microresistivity		d Poros	ity,				0	SEP 1 1 21 ;ONFIDE	ntial
			CASING	RECORD	│ Ne	w Used			
	Size Hole	,		· - · · · · · · · · · · · · · · · · ·	- 7	rmediate, produc	1		T =
Purpose of String	Drilled		e Casing (In O.D.)	Lbs.	ight /Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Perce Additives
Surface		8 5/8		23#		219	Common	165 sx	3% cc, 2% g
		<u> </u>							
	 		ADDITIONAL	CEMENT	NG / SQU	EEZE RECOR			
Purpose: Perforate	Depth Top Bottom	Туре	of Cement	#Sacks	Used		Type and	Percent Additives	RECEIVED
Protect Casing Plug Back TD								· · · · · · · · · · · · · · · · · · ·	SEP 14 200
Plug Off Zone								N.C	`C \4.00
			·					<u>n</u> e	C-WICHIT
Shots Per Foot			D - Bridge Plud ach Interval Pe				ncture, Shot, Cemer mount and Kind of M		Dep
	 								
		· · ·					* · · · · · · · · · · · · · · · · · · ·		
			-						
	Size	Set At	-1=	Packer A	At	Liner Run	Yes ✓ No)	
TUBING RECORD	\$,23				l				
TUBING RECORD Date of First, Resumerd P		Enhr.	Producing Met		Flowing	Pump	ing 🔲 Gas Li	ft 🗍 Oth	er (Explain)
		Enhr. Bbis.	Producing Met		Flowing			ft Oth	er <i>(Explain)</i> Gravit
Date of First, Resumerd P	roduction, SWD or E	Bbis.	Gas				Bbls.		

		KWS #1-32 2010' FNL 2020' FWL						
				2580' FEL 2S-R32W ' KB			Sec. 32-T	12S-R32W 1' KB
Formation	SampleTops	Datum	Ref	Log Tops	Datum	Ref	Log Tops	Datum
Anhydrite	2546	+511	+3	2544	+513	+5	2566	+508
B/Anhydrite	2568	+489	+2	2567	+490	+3	2587	+487
Topeka	3786	-729	+6	3787	-730	+5	3809	-735
Heebner	3998	-941	+4	3996	-939	+6	4019	-945
Lansing	4035	-978	+11	4034	-977	+12	4063	-989
Stark	4267	-1210	+2	4266	-1209	+3	4286	-1212
Marmaton	4371	-1314	+4	4370	-1313	+5	4392	-1318
Up Pawnee	4467	-1410	+8	4466	-1409	+9	4492	-1418
Chero Sh	4551	-1494	+5	4550	-1493	+6	4573	-1499
Johnson	4594	-1537	+5	4593	-1536	+7	4617	-1543
B Penn/Lm				4728	-1571	+9	4654	-1580
Mississippi	4662	-1605	-11	4666	-1609	-15	4668	-1594
RTD	4725						4745	
LTD				4728			4745	

. . . .



RECEIVED SEP 1 4 2009 KCC WICHITA



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566 KCC SEP 1 1 2003 CONFIDENTIAL INVOICE

Invoice Number: 119622

Invoice Date: Aug 7, 2009

Page:

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

PROD	COP
	_

Customer ID	Well Name# or Customer P.O.	Payment	Terms	
Murfin	KWS #3-32	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Oakley	Aug 7, 2009	9/6/09	

Quantity	Item	Description	Unit Price	Amount
165.00	MAT	Class A Common	15.45	2,549.25
3.00	MAT	Gei	20.80	62.40
6.00	MAT	Chloride	58.20	349.20
174.00	SER	Handling	2.40	417.60
	SER	Handling Mileage Charge	312.00	312.00
1.00	SER	Surface	1,018.00	1,018.00
15.00		Pump Truck Mileage	7.00	105.00
			RECEIVED	
			SEP 1 4 2009	
			KCC WICHITA	
	ſ	Anratin'	· ,	¬
			NKM	
		0500 014 W 3482 4999.98	Congest S	· (Sg
		(1684.91)]
ALL DRICES A	l L	PLE Subtotal		4 813 4

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1684 71

ONLY IF PAID ON OR BEFORE

Sep 6, 2009

<u> </u>		1		
Subtotal				4,813.45
Sales Tax				186.53
Total Invoice Amount				4,999.98
Payment/Credit Applie	d			
TOTAL				4,999.98

331527

ALLIED CEMENTING CO., LLC. 043579

RUSSELL, KANSAS 67665	SERVICE POINT:
RUSSELL, KANSAS 07005	Dakley Ks
SEC. TWP. RANGE C	ALLED OUT ON LOCATION, JOB START JOB FINISH SA
DATE 8-7-09 32 125 RANGE 320	OLICATION JOB START JOB FINISH FOL
LEASE KUS WELL# 3-32 LOCATION Oakle	COUNTY STATE
OLD OR NEW (Circle one)	
	MCC
CONTRACTOR MUTTIN Dels Co#14	OWNER Same CEMENT AMOUNT ORDERED 1/5 SK COM SEP 1 1 2009 SEP 1 1 2009
TYPE OF JOB SUFFACE	CEMENT AMOUNT ORDERED 165 SKS.com CONFIDENTIAL CONFIDENTIAL
HOLE SIZE 1214 T.D. 221	CEMENT
CASING SIZE 85/8 DEPTH 221	AMOUNT ORDERED 165 SKS.com
TUBING SIZE DEPTH	3%cc-2%cel COM
DRILL PIPE DEPTH	
TOOL DEPTH	11,000 11-45 0 -110 20
PRES. MAX MINIMUM	COMMON 165 SKs @ 1545 2549 25
MEAS. LINE SHOE JOINT	POZMIX@
CEMENT LEFT IN CSG. /5 /	GEL 3 5/45 @ 20-80 62/40
PERFS.	CHLORIDE 6 5/6 @ 5820 34920
DISPLACEMENT 13 BBL	ASC@
EQUIPMENT	
PUMPTRUCK CEMENTER 1 1 c/t	<u> </u>
# 423-289 HELPER Javene	
BULK TRUCK .	
# 329 DRIVER Walt	@
BULK TRUCK	@
# DRIVER	HANDLING 174 SK @ 240 4/7 60
•	MILEAGE 104 pro Klindo 3/200
REMARKS:	TOTAL 369045
	TOTAL
Courset Dill Circ	SERVICE
- Carelly No III	SERVICE
	DEPTH OF JOB
	PUMP TRUCK CHARGE 408
	EXTRA FOOTAGE @
	MILEAGE 15- miles @ 700 10500
- The cale You	MANIFOLD@
1,000,000	@
	@
CHARGE TO: MUCFILL Dels Co	
CHARGE TO. THE ENTER CO.	TOTAL 112300
STREET	10170
CITYSTATEZIP	*
CITI DIT DIT	PLUG & FLOAT EQUIPMENT
	856-
<u></u>	1 Sor Pace Phy @
2v- /	@
To Allied Cementing Co., LLC.	
You are hereby requested to rent cementing equipment	
	@
and furnish cementer and helper(s) to assist owner or	•
contractor to do work as is listed. The above work was	TOTAL
done to satisfaction and supervision of owner agent or	10100
contractor. I have read and understand the "GENERAL	SALES TAX (If Any)
TERMS AND CONDITIONS" listed on the reverse side.	
11 - 11 1	TOTAL CHARGES
PRINTED NAME COREG UNUL	DISCOUNT 35% IF PAID IN 30 DAYS
	DISCOUNT IF PAID IN 30 DAYS
1 1	* IF PAID IN 30 DAYS



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

STE #300

Wichita, KS 67202

(785) 483-3887

Fax:

(785) 483-5566

BIII To: Murfin Drlg. Co., Inc. 250 N. Water

KCC SEP 1 1 2009 CONFIDENTIAL

INVOICE

Invoice Number: 119692

Invoice Date: Aug 15, 2009 1

Page:

RECEIVED
SEP 14 2009
RCC WICHITA

Customer ID.	Տեր Well Name# or Customer P.O Էր Հին	Payment A. Payment	Terms
Murfin	KWS #3-32	Net 30	CONTRACTOR OF PROPERTY PROPERTY AND ADDRESS OF THE PARTY
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Aug 15, 2009	9/14/09

Quantity	ltem ** x	Description	ੀ: Unit Price	Amount
	MAT	Class A Common	15.45	2,039.40
88.00	MAT	Pozmix	8.00	704.00
8.00		Gel	20.80	166.40
55.00		Flo Seal	2.50	137.50
230.00		Handling	2.40	552.00
15.00		Mileage 230 sx @.10 per sk per mi	23.00	345.00
	SER	Plug to Abandon	1,185.00	1,185.00
15.00		Pump truck Mileage	7.00	105.00
T .	EQP	Dry Hole Plug	40.00	40.00
		USED FOR DRY APPROVED	How I	
	DE VET DAYAR	Subtotal	<u></u>	5,274.30

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE

Sep 14, 2009

Subtotal 332.28 Sales Tax 5,606.58 **Total Invoice Amount** Payment/Credit Applied 5,606.58

le 5 5

1846.01

ALLIED CEMENTING CO., LLC. 043662

•	SERV	HOE BOILE
REMIT TO P.O. BOX 31	SEP 1 1 2009 SERV	Oakley
RUSSELL, KANSAS 67665	SEP 1 1 2000	Dane -
la ven	ALLED OF CONTROL OCATION	JOB START JOB FINISH
DATE 8 -15-09 SEC. TWP. 12 RANGE 32 W	3:00Pm	4100pm 5,30pm
KILL	ey 115 3/2w	COUNTY STATE
LLASE	1 175 3720	
OLD OR NEW (Circle one)		J
CONTRACTOR murfin Orilling Rig 14	OWNER Same	
TYPE OF JOB PTA	OWNER	
HOLE SIZE 7 8 T.D. 4725	CEMENT	1.00
CASING SIZE DEPTH	AMOUNT ORDERED 220	SKS 140 4/69E
TUBING SIZE / DEPTH	1/4 Flo-secz	
DRILL PIPE 4/2 DEPTH 2555		
TOOL DEPTH		
PRES. MAX MINIMUM	COMMON 132 SES	@ 15,45 2039,40
MEAS. LINE SHOE JOINT	POZMIX 88 SKS	_@ <u>8,00 104,00</u>
CEMENT LEFT IN CSG.	GEL 8 545	@ 20,80 /Ldo,40
PERFS.	CHLORIDE	
DISPLACEMENT	ASC	
EQUIPMENT	Floseal 55th	@ 2150 13750
PUMPTRUCK CEMENTER Andrew		
#423-28/ HELPER Larene		
BULK TRUCK		
#347 DRIVER Darrin		
BULK TRUCK		@
# DRIVER	HANDLING 230565	@ 2.40 552.00
	MILEAGE 104 SK/mil	e 345,00
REMARKS:	,	TOTAL 3944,30
		101712-
2555 @ 2555'	orany.	TOP
1005BQ 1596,	SERV	ICE
40 3ks & 210	DEPTH OF JOB 25	·cc'
10 036 40		1185100
15 SKS mouse hole	PUMP TRUCK CHARGE	
30 SKS Rat hole	EXTRA FOOTAGE	@ <u> </u>
	MILEAGE 15 miles	
Thank you	MANIFOLD	@
		@
		@
CHARGE TO: Murtin		-
		TOTAL /296,00
STREET	-	
CITYSTATEZIP		T PATIENT APRIT
	PLUG & FLOA	AT EQUIPMENT
	8/8	
	Tory holeplu	190 YOUD
		<u>U_@</u>
T All: 10 C- 110		
To Allied Cementing Co., LLC.		
You are hereby requested to rent cementing equipment		_